WA w2 2019/5/12 FHE
RsEezd FE22[RIK S TTITAR AR e LRGeS
BSR4 Koyitie e B gk LT el
Rl = Koybe Bwitihe 2
A4t &H 6L 24 3fiz i 5L 6 8fir
. ~ N EE 12.58 (+1.5)|B & #Wx 12.62 (+1.5) [lifd #Es= 13.76 (+1.5)| ik %E 14.08 (+1.5)
INFEVE A 5H12H 60m
BEHEL FEDENFEE RENT>F By a=7
FHE it 10.89 (+1.8) [#8/8 % 11.00 (+1.8)|Fa#& kit 11.05 (+1.8) [fReE  #iknt wi11.07 (+2.5) Bl &% wll.09 (+2.5)|%% 12 wll.10 (+2.5)|#7E  Fis 11.34 (+1.8)[(IR8 25 H w11.37 (+2.5)
LT SH12H 0m EREL HIE - BrPgbE L =&AL ke BREREL HIEL ZEETREL
MRE &K w11.37 (+2.5)
NZ A A 758
NEVERT s1on L00m B OOE 16.44 (+1.4) A% &X 17.12 (+1.4)|7545 W 17.16 (+1.8)|AfE R 17.23 (+1.4)|itA 6 17.41 (+1.3)[5R MAHF 17.43 (+1.3) %M #E 17.46 (+1.8)|B16 HWITE 17.57 (+1.8)
SuEmmEL Koy epsepe b By a=7 E0E) EO&r =EAETRE L ZEETEL SmmkELE
RE EY 15.66 (+1.4)| 1L K3 15.74 (+1.4) | Rk 2% wi16.11 (+2.1) I8k K 16.15 (+1.4)|dett  F4 w16.22 (+2.1) |@ifk T w16.46 (+2.1) &R L 16.47 (+1.4)
NEAERT sH1on L00m BUAFEAERE L Rk Rk REMIT->F EREMEL B a=7 PRERE L
FRE bt 16.47 (+1.8)
ZEATREL
s 19m s00m i =22 2:36.34|8H 2:54.56| 1L K3 3:02.11|F% B3 3:02.46 8 FIE 3:08.26[db4d 4 3:08.95| kK& 2TH 3:10.34[%H WF 3:19.44
NZ A 758 PeipE Rk =EAETRE L hEfE ERMEL BREMEL Koy epspe b
3 - w13.93 (+2.6) |FRE 7 B H w1459 (+2.6) [FA&  HhiE w14.60 (+2.6) [$hAR & w14.82 (+2.6) tEE B w14.88 (+2.6)[&2H HE w15.09 (+2.5) [BRER 41 w15.43 (+2.5)
NESERT s 19m Lo0m BUAFEAERE L Koy epsepe b FerkE £ Rk ERMEL REypspE b Koy epspe b
g i w14.82 (+2.6)
BoakE £
5H12E 00m NG R 2:4359|BR  #EE 2:47.98| ARk 0¥ 2:48.77| KK mHEZE 2:51.54| KA HEF] 2:53.41|FEM  ER 2:53.45|BkR 2:55.48|F%1 BETY 2:56.14
Rk Rk B a=7 L%EmpEE BEEL B a=7 RoyepspE b PreipE
NESERT s 19m Lo0m BRI 13.06 (+0.2) £ Fisk 13.32 (+0.2) [fER RE 13.47 (+0.2)|%fE 53 14.00 (+0.2) [FFRE 8% 14.37 (+1.9) A% %2 14.47 (+0.2)|EH & 1451 (+0.2)|BR #XK 14.74 (+0.2)
BUAFEAERE L Koy epsepe b REDT->F BIFFEAEREE (Y a=7 BIFFEAEREE RIAFEAE ML Koy epsepe b
54128 00m R (DA 2:30.41 1Ak &2 2:32.93|ER —I& 2:37.96| %12 &It 2:44.33| 58k D 2447128 BF 2:4637|5H  FE&K 2:4819|HH #i 2:51.29
Rk ImHDEE NZ K7ttt RIS EREE PREIRE £ ERMEL BHDEE Koy epspe b
NZRiptst 1:07.17 K% A sRpEA 1:08.03(2# = MkEL 1:10.80(FA#FY 2 =7 1:11.98( == Fyke £ 1:12.58| KTEM S » F 1:13.35
BN T A% FE % AL Rt % &R MBF ’R #2F
NS | 512R 4x100mR Flx =@ Nk % RS s W FRE HEK B 2
NF EHEH il Rk fIlliE TR NI = #F ARl AL
e BT o PR ais WiiE Wik BE Fr Hlk5 HE R
RIS 13.60 (+1.4)|BIER  #9E 14.82 (+1.4)|FE% HhiE 15.22 (+1.4) e E 15.27 (+1.4)|BRE %55 H 15.90 (+1.5) [AF4E BEE 17.10 (+1.5) ;A% Fi%x 17.95 (+1.4)
sestiy | 5A128 SomH Y 2=7 KEMT>F BrABE L BrABE L KRyhRpEL KENT>F KENT>F
TR it 15.22 (+1.4)
KEMT>F
ZEATRE LA 1:00.49 @Rk £ A 1:00.86 ke £ 1:02.22(EEkELB 1:04.58 [#EpE LA 1:06.61| Ko ehsfE b 1:06.79| == F1kE £ B 1:07.40 (#2FpE LB 1:11.47
FiE FE HT KT LE A BER (B I R "k BE JIE Bk (S
5H12H 4x100mR 125 S =1 #wAR EH Bl EE =W wE KB HEH B 2K R RE B HZE
FE BR BR OB i BED ok I B FE B BX 3 3= P2 LB iE
FE D R R B D B e £H #ax RS RE BT A EH
EE XE 1.20|%fE BE 1.20)8H Aad 115|688 OF 115638  FI3 1.10 ®iF D 1.00|#%8 B3 1.00
~ o KENT >F BIAFEARREL EEEE hEE hEE KRRpEL Ko popE b
5H12H &bk
FIER H0E 1.10 B BHE 1.00
KENT>F EwREEL
Sz - wiE Bt 4.22 (+1.2) (B3R 5D wa10 (+2.7)|EE K2 4.07 (+1.8) (R #ER 4.06 (+1.8) (i =g 373 (+1.9)[2H WE 370 (+1.6) [F Ao E w3.64 (+2.2)|FRE I 3.54 (+2.0)
EfY =7 =ZEETRE L RoyepspE b Koy epspE b BoakE Ko b AL a=7 =ZEETRE L
sizn | v FE D 34.29|fE  BER 31.35[IBK  fED 25.49|1ERE 24.40|EM  BRfE 2331|BA KRE 2243\ B BHIE 2137|138 17.25
ZEHREL GR|=HEfTkE L GR|=&=HATRE L Ay 2=7 Ay a=7 KhgRpEL RAREL ZEATREL
AAFEAEBE EA 53.84| K% kB LA 55.21|FAFY 2 = 7A 55.38| k9 hkpE LB 56.69| KA > FA 57.33| 3 #A HBE LB 58.14 (A ehskpE EC 58.67|BePakE £ 59.95
T A El® RAE AR AE €R HH OB+ 2E R IR RA [LE2 ¥ (3
NEBGHRIR B L | 5H12H 4x100mR [ERAER] T Pl aiE it HLT 8 fBR XRE A% == I A T OER
R B3 BE KE RS BR KR R HE HE ES B g% A EA
BRE T 2SS FH FE EH BAH K EHX EiZ A/ BRI ® RS




